
Lecture 14 - March 7

Reactive System: Bridge Controller



Announcements

• Slides updated to include First Refinement
• Released: Lab2 solution video, PracticeTest1 solution
• To be completed by the final exam:
 Makeup lectures for WT1, WT2, ProgTest1, ProgTest2 



Lecture

Reactive System: Bridge Controller

First Refinement: State and Events



Bridge Controller: Abstraction in the 1st Refinement
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Bridge Controller: State Space of the 1st Refinement

Dynamic Part of Model

Exercises
inv1_4: linking abstract & concrete states
inv1_5: bridge is one-way

Static Part of Model
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Bridge Controller: Guards of “old” Events 1st Refinement

ML_out: A car exits mainland 
(getting on the bridge).

ML_in: A car enters mainland 
(getting off the bridge).
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States, Invariants, Events: Abstract vs. Concrete
Abstract m0

Concrete m1
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